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| Exercises (5-12)

Byt g
5. 8<x<99 6. -31<x< 64
7. x< =19orx> 21 8. x<Oorx=100
9. {—=0.25, 0, 0.25, 0.50, ..} 10. x < 6lorx = 67
. x< —-450rx > 86 12, Sliclas poer 8



e oS3 lgmd hty S e et

48.f(x) = 1

49.f(x) = 1

50.f(x) = 1

(6 1) g paid) Baoase A1y JS) £12) 4 f(—5) oyl

(—4x+3 , x<3
-x3 , 3<x<8
k3x2+1 , x> 8

r -5x2 , x< -6
X4+x+1, -6<x<12
L05x3 -4 , x>12

(2x2 + 6x+4 , x< —4
6—-x2 ', =4<x<12

14 , x=12

[ -5 , x</=5

51.f(x) =+

Vx+6 , -5<x<10

2—x+8 , X210

.

Exercises (43-51)
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igentify and evaluste functions and state their Somains

Exeroses (35-46)

39. f(x) = —8x+12
X +5x+4
41. gla) = V1 + a2
5a
43. flg) =
Vda — 1
=~ B 21
45. flx) = = + ——

40.

42.

44.

46.

5o Ay S o) 2o
o= —x3:l4n

hx) = V6 — X2

gl = 123— =

glx) = + * 2 ~ A
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Exerases (1-10)
Use it to determine the conbinurty of 8 funchon

Sl 5y -8 850! X pad wic ¥ o) dlale Ws US OIS 13) Lo S0
¥ elgw Jlaad¥) § o0 dumnd (dladie <OlS 131 . Jladl Hlos- plum
(29 ¥ ciRlaIN .i.n;zw JoLE ) E;_,.ld 8! “u:r.f.‘.p

1. flx) =Vx*—4; x2e x=-5
2. fx) =Vx+5; vxe x=38

x> — 36

3. hix) = x_l_ﬁ,—u-nx:—ég x=6
2 3
4. h(x}=xx+§5;¢-r- = —5 3 x=5
5. g(x)—x 1;-\--“-;1::1
6 g(.r]—'zzi; y=—2 g ¥=2
o, = _ _
7 It(x]—rz_5x+4; x=1s x=4
x —ih
8. h(x)r-(—e_};-u-r- x=0s3x=6
x
cgiimy— 1 bl er=<—6_ . _ .
= jr(:":)_{—x+2 13 x> —6 ¥= =
= C[x?2—=1 15 x>-—2 5
 J = x—5 13 x< =2 e
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Exerases (1-10)

; Find intervals on whsch funchions are iNCreasing, constant, or decressing I
81 u.ll u‘,.u 1_11_,...1." paadd dla S u.ll-u.” e | |

pea) Al o adlie o dualjie Aol Ladis u,ﬁa u,..JI, ad~g 0.5

(o) Jbade Sl

NN R Wi f(.X) =r—x1—4x2+2“ i _f(x1:¥ . : /l u’ ' 8
N ; — | 1.
NN 7 ', T -] 1| ENERN] -8 |4 oI/ 4 | 8x ~16 -8 0] 8 '1@: i : 4
L) =x3 —x?— 2 +3 4 74 | V= xl\:}-?. lIEEEEE I e /r
e s e NNENEE ) At s | 4 L
AkENN T | | | A7 ER AR
1| ] [ T4l 8 ' . ‘ il | = ]
f) =x"=3—x +1 ; gl { d /l o ﬁ m ‘0 1 4 - 8"' | \/_ ifx>0
JEBELTIE S e TR B iy 0 ,/ [ - ' ”'{ i/_fx !
1] | - N —— A 4 S o o [T M B
R R | /V Y g | K] | rlx‘:1
ENI 1 ._ T R -8 /4 o[\ 4 /_Bx - -4 0 8x /1 . ——
;-3 4 O“ 2 o ﬂ . / —4 | ]I —4 f[x)'—{-ql |fX5_5
=8 |~ . X , | L L |x : s o g = i
1] ;}\; [& Bis IunEn VSR SR bl -*=Tr ifx>=5
: \ i {25x+11 ifx <=2 {—os)c — 4x 1fx<: —4
-8 [ K 2 " 0.5x2—4x +2if x>0 [[flY =<{—0.5x if —4<x ‘
- —8x*+80x—190if x >4
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Find the sversge rate of change of @ funcbon

a,'wng‘sg.l,.,u.mudsgsm.mumu,:uu_?

34. g(x) = —4x? + 3x — 4; [—1, 3]

35. g(x) =3x% — 8x + 2; [4, 8]

36. f(x) =3x> — 2x2 + 6; [2, 6]

37. f(x) = —2x° —4x? 4+ 2x — 8; [-2, 3]
38. f(x) =3x*—2x*+ 6x— 1;[5, 9]
39. f(x) = —2x*—5x% + 4x — 6; [—1, 5]
40. h(x) = —x° — 5x° + 6x — 9; [3, 6]
41, hx) = x>+ 2x* + 3x — 12; [-5, —1]
42. f(x) =

3. f() =212 (-6, 2]

44, f(x) = m [—4, 4]

45,

flx) =Vx—6;[8,16]

S s

XS |

Exercizes (34-45)
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Exeroses (1-12)

Goedly Jlongd! tada¥l Dol Sl Lol Al yablasd! e
gadli/ iy ol 28y L8 el Seluly Jlasly Siledly Colabslaly

(1 J=s) u.n!,.....li Jegd !
1 f0) =[] 2. f() =+ 3. f() =2
4. f(x) =x* 5. flx) =c¢ 6. flx) =x
2 ) ke Aa US Jied ) =V ! el p !
1 glx)=vVx—4 8. ¢gx) =vx+3
9. gx) =Vx+6—4 10. glx) =Vvx—7+3

N A n:dsmf(x}_% L L) e o dins

1. g(x):%+4 12. g(x)z%—(:
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8 Exerases (15-28)
Find compastions of funchons I
Ifo gl6) g [go FI(x) g [fo gllx) o (Jlgdd (o Za) JS
\2
15.f(x) = 2x — 3 16. f(x) = —2x% — 5x + 1
gx) =4x—8 glx) =—-5x+6
17.f(x) = 8 — x? 18. f) =x%2—-16 (3 Jea) .fogua_—o
—_— il i
X)) =x"+x+1 g)=x“+7x+1 2. fix) = 1 22 f(x) = 2
X+ X—3
19 f(0 =3 —x* 20. f(x) =2+ x* g =x?—4 g =x%+6
gx) = x>+ 1 gx) = —x?
23. f(x) = Vx + 4 24. fO) =x%2—-9
gx)=x%*-4 g(x) = Vx+ 3
25. f(x) = > 26. fx) =—2%
gx) =v6é6—x gx)=vVx+8
27. f() = Vx + 5 28. ) = Vx—2

gx) =x2+4x—1 g =x%+8
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3 Exerases (1-10)
Eveluste, analyze, and graph expenental functions l

Glablidlly gaely Jlndd) by gty Lily Dls JS o
padll i W13 adlgay « Bl Selully Ll Slediugly

e o e W e ks ko R b
fifla) =2 2. Al =5%
3.hlx) =02%*+2 4., Hxl=67%
5.mlx) = —(p.25)* Pl =0 1%
W=(§) =
y bt R 8. A

9.cx) =2% -3 10. dlx) =5+ 2
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19.

21.

23.

25.

217.

Clalyligld las 3

| Apply properties of logerithems
— 1 2 Jis) g Lea paylagd S ied sy
log. ﬁi 20. 8lne? —Inel? 4
9lne’* +4Ine’ 47 22. log, V32 4
2 log, \ff 3 24. 3 lnng 1
4log, V8 6 26. 50 log; V125 75
log, V243 & 28. 36Ine"® —4Ine® —2

Exercses (13-23)

Q¢
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Apply the One-to-Ome Froperty of ICERrtRmIC Funcbons to solve aqustors
i) g jli o) ¥ alagd! o JS Jo domgl

75. log (29,995x + 40,225) = 4 + log (3x + 4)

o

76. iﬂg_i {%;r) = —lﬂg% (x + 8) — >

71 logx =23 —log (100x + 900)

- 78. Iugﬁ%—.?::lﬂgE%

79. log 2x + log (4 — &) = 2 1og (x — 2)
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Exeroses (43-54)

43.

45.

47.

Use sngle measures to soive resi~worid problems I

1] Baliate LEURY U0l i it Hnguedlgguilll dog) waladl .49
ole glad JS Ldasy ) sl Led 180N 4> 5l a3 LS
(6 Judi) Sasgll

J.L_..i.” ,;ﬂj l.:"! .E_,,‘a!:: P it Jg_il dlaig Al pa (..55-":" lﬂzwl ‘fﬂ_Ll‘.J 50
Lo ) ctiall aslia Led 6 Tt ) oy (o) o GRa2
(6 Judl Sa .l

el da Gludase La3S 0 gl wlidy o015 Flad doluse

B H1ad) el
51. A=291#t2 9=68 52. A =808 cm?, 6 = 210°
53.A=3??in2,a=5?“ 54.A=?5m2,e=‘°{T"



1.

13.

15.

AL Jgad aliagten B A Y L
Graph tangent and recprocal trigonometric functions
et el Ladla S I;."'L..'-‘ Jeog ‘i:'.-'*"ir" - ylald] Jogdase Sdo-
y= 2tanx 2.y=tan(x+%)
y = cot \x 5 4. y 3t3n3
1
y= —gcotx 6. y = —tan 3x
y:—Ztan(ﬁx—'n') B.y=cut-§—
J"=-5-1—1:sc 2x 10. y = csc (4;,; g %’T)
}'=5ec(x+‘n') 12. y= —2csc3x
= 4 ( = '3—Tr 14 — ca (;:E s E)
y = 4sec 2 -y =sec (g :
D _J 2_“') i X
J’—zcsc(x 3 16. y = sec 5

Exeroses |1-15)
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13.
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I Evaluste and graph inverse tngonometric functions
(D0 O] (b Leo petd S ded ax
(1-3 alz.y1)
- oy /3
sin * 0 2. arcsin 5
arcsin —— 4. win=t=
2 " 2
= 2
sin~} (—% 6. arccos 0
Sx A2
cos™ —— 8. arccos (—1)
arccos —— 10. cos™! &
2 2
arctan 1 12. arctan (—V/3)
3
SH 14. tan 10

Exerases (1-14)
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Comstruct and use & prodesdity Sstributon I

Exerases (1-10)
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AED 100 1120
AED 250 800
AED 500 480
AED 1000 320
AED 2500 256
AED 5000 128
AED 7500 64
AED 10,000 32
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b
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d
e
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